

Currency Futures & Options Matched Trades

Report for 11/04/2012

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
8:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9545	159,090.00	Member	Buy
8:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9545	(159,090.00)	Client	Sell
8:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1085	810,850.00	Member	Buy
8:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1085	(810,850.00)	Client	Sell
8:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0585	805,850.00	Member	Buy
8:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0585	(805,850.00)	Client	Sell
8:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0085	800,850.00	Member	Buy
8:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0085	(800,850.00)	Client	Sell
8:11:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0990	4,049,500.00	Member	Buy
8:20:20	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1344	(813,440.00)	Member	Sell
8:20:20	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1344	813,440.00	Client	Buy
8:20:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0645	80,645.00	Member	Buy
8:20:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0645	(80,645.00)	Client	Sell
8:29:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	350	350,000	8.1120	(2,839,200.00)	Member	Sell
8:29:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1120	405,600.00	Client	Buy
8:35:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	8.0585	1,007,312.50	Member	Buy
8:35:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	8.0585	(1,007,312.50)	Client	Sell
8:36:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	210	210,000	8.0954	(1,700,034.00)	Member	Sell
8:36:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	210	210,000	8.0954	1,700,034.00	Client	Buy
8:42:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1120	2,433,600.00	Client	Buy
8:45:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0690	403,450.00	Member	Buy
8:45:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0960	(4,048,000.00)	Client	Sell
9:02:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0655	(72,589.50)	Member	Sell
9:02:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0655	72,589.50	Client	Buy
9:02:42	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	33	33,000	8.0605	265,996.50	Member	Buy
9:02:42	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	33	33,000	8.0605	(265,996.50)	Client	Sell
9:03:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0610	80,610.00	Member	Buy
9:03:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0610	(80,610.00)	Client	Sell
9:05:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0610	40,305.00	Member	Buy
9:05:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0610	(40,305.00)	Client	Sell
9:07:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0580	805,800.00	Member	Buy
9:07:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0580	(805,800.00)	Client	Sell

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
9:08:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0585	4,029,250.00	Member	Buy
9:10:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.9835	399,175.00	Member	Buy
9:10:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0510	(4,025,500.00)	Client	Sell
9:11:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0615	40,307.50	Member	Buy
9:11:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0615	(40,307.50)	Client	Sell
9:11:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.0650	(1,209,750.00)	Client	Sell
9:11:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.0650	1,209,750.00	Member	Buy
9:17:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0700	(201,750.00)	Client	Sell
9:20:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	225	225,000	8.0678	1,815,255.00	Client	Buy
9:20:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.0675	(1,613,500.00)	Member	Sell
9:20:33	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	105	105,000	8.1730	858,165.00	Client	Buy
9:20:33	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	105	105,000	8.1730	(858,165.00)	Member	Sell
9:23:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0627	6,047,025.00	Member	Buy
9:23:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0627	(6,047,025.00)	Client	Sell
9:34:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0725	(8,072.50)	Client	Sell
9:34:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0725	8,072.50	Client	Buy
9:38:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0732	(72,658.80)	Client	Sell
9:38:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0732	72,658.80	Client	Buy
9:39:12	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0740	80,740.00	Client	Buy
9:39:12	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0740	(80,740.00)	Member	Sell
9:39:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1010	2,025,250.00	Member	Buy
9:39:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1010	(2,025,250.00)	Client	Sell
9:43:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0750	(8,075.00)	Client	Sell
9:43:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0750	8,075.00	Client	Buy
9:48:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0825	(4,041,250.00)	Member	Sell
9:48:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0825	4,041,250.00	Member	Buy
9:48:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0805	4,040,250.00	Member	Buy
9:49:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.0803	242,409.00	Member	Buy
9:49:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	550	550,000	8.0804	(4,444,220.00)	Client	Sell
9:49:30 9:49:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0803	161,606.00	Member	Buy
9:52:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0895	(8,089.50)	Client	Sell
9:52:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0895	8,089.50	Member	Buy
9:52:30 9:52:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	16	16,000	8.0900	(129,440.00)	Client	Sell
9:52:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	16	16,000	8.0900	129,440.00	Member	Buy
9:52:40 9:53:04	\$ / R 18/06/2012			0.00	1		10	1,000	8.0900	8,092.60	Member	-
9:53:04 9:53:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000 1,000	1	1,000	8.0920	(8,092.60)	Client	Buy Sell
9:53:04 9:53:27		Foreign Exchange Future			1		3	,		(8,092.00) 24,252.00	Member	
	\$ / R 18/06/2012	Foreign Exchange Future		0.00		1,000	-	3,000	8.0840			Buy
9:53:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.0840	(24,252.00)		Sell
9:54:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0999	(8,099.90)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0999	8,099.90	Member	Buy
9:54:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1000	(81,000.00)		Sell
9:54:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1000	81,000.00	Member	Buy
9:54:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1000	(40,500.00)		Sell
9:54:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1000	40,500.00	Member	Buy
9:54:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1000	(405,000.00)	Client	Sell
9:54:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1000	405,000.00	Member	Buy

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
9:57:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0925	(4,046,250.00)	Member	Sell
10:00:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1200	162,400.00	Client	Buy
10:00:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1200	40,600.00	Member	Buy
10:01:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1235	(8,123.50)	Client	Sell
10:01:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1235	8,123.50	Member	Buy
0:01:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1325	(162,650.00)	Member	Sell
0:01:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1325	162,650.00	Client	Buy
0:06:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.9975	(399,875.00)	Member	Sell
0:06:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0830	4,041,500.00	Client	Buy
0:07:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1250	81,250.00	Client	Buy
0:07:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1250	(81,250.00)	Client	Sell
0:08:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1250	81,250.00	Client	Buy
0:08:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1250	(81,250.00)	Member	Sell
0:11:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1250	812,500.00	Member	Buy
0:11:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1250	(812,500.00)	Client	Sell
0:12:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.1221	(284,273.50)	Client	Sell
0:12:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	240	240,000	8.1305	(1,951,320.00)	Member	Sell
0:12:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1280	32,512.00	Member	Buy
):12:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1280	(32,512.00)	Client	Sell
0:13:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	210	210,000	8.1233	1,705,893.00	Member	Buy
0:13:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	210	210,000	8.1233	(1,705,893.00)	Client	Sell
0:22:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.1080	6,081,000.00	Member	Buy
0:26:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	75	75,000	8.0580	604,350.00	Member	Buy
0:26:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.1030	(6,077,250.00)	Client	Sell
0:27:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2014	(205,035.00)	Member	Sell
0:27:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1375	2,034,375.00	Client	Buy
0:28:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0983	4,049,150.00	Member	Buy
0:29:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0820	80,820.00	Member	Buy
0:29:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0820	(80,820.00)	Client	Sell
0:30:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0855	40,427.50	Member	Buy
0:30:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0855	(40,427.50)	Client	Sell
0:31:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0123	400,615.00	Member	Buy
0:31:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0897	(4,044,850.00)	Client	Sell
):32:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0897	4,044,850.00	Client	Buy
):32:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0897	(4,044,850.00)	Client	Sell
):32:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0897	4,044,850.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0907	4,045,350.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0907	(4,045,350.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1240	3,249,600.00	Member	
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1240			Buy Sell
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400 250	400,000 250,000	8.1240 8.1025	(3,249,600.00) 2,025,625.00	Member	
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1			250,000	8.1025 8.1080	(8,108.00)		Buy
				0.00	1	1,000 1,000	1	1,000	8.1080	(8,108.00) 8,108.00	Client Member	Sell
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future					1				Member Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0275	200,687.50	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0950	(2,023,750.00)	Client	Sell
1:00:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1045	4,052,250.00	Member	Buy

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
11:00:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1045	(4,052,250.00)	Client	Sell
11:01:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1025	4,051,250.00	Member	Buy
11:01:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1025	(4,051,250.00)	Client	Sell
11:01:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1026	4,051,300.00	Member	Buy
11:01:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1026	(4,051,300.00)	Client	Sell
11:07:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1155	(8,115.50)	Client	Sell
11:07:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1155	8,115.50	Member	Buy
11:09:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1130	(4,056,500.00)	Member	Sell
11:10:41	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.2055	8,205.50	Member	Buy
11:10:41	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.2055	(8,205.50)	Member	Sell
11:10:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0935	8,093.50	Member	Buy
11:10:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0935	(8,093.50)	Member	Sell
11:12:27	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2065	82,065.00	Member	Buy
11:12:27	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2065	(82,065.00)	Member	Sell
11:12:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0945	80,945.00	Member	Buy
11:12:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0945	(80,945.00)	Client	Sell
11:13:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1980	(409,900.00)	Member	Sell
11:13:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1215	4,060,750.00	Client	Buy
11:17:01	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2005	82,005.00	Member	Buy
11:17:01	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2005	(82,005.00)	Client	Sell
11:22:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.0950	3,238,000.00	Member	Buy
11:22:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.0950	(3,238,000.00)	Client	Sell
11:34:43	\$ / R 18/06/2012	Foreign Exchange Future	Р	7.50	1	1,000	2,000	2,000,000	32.5000	(65,000,000.00)	Member	Sell
11:34:43	\$ / R 18/06/2012	Foreign Exchange Future	Р	7.50	1	1,000	2,000	2,000,000	32.5000	65,000,000.00	Client	Buy
11:51:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0885	80,885.00	Member	Buy
11:51:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0885	(80,885.00)	Client	Sell
11:59:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0795	6,059,625.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.0795	(8,079,500.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0795	2,019,875.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.0687	282,404.50	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.0687	(282,404.50)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0716	(4,035,800.00)	Member	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0675	80,675.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0675	(80,675.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0675	161,350.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0675	(161,350.00)	Member	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	77	77,000	8.0555	620,273.50	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	77	77,000	8.0555	(620,273.50)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0625	806,250.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0625	(806,250.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0715	(201,787.50)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0715	201,787.50	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1016	(405,080.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0746	4,037,300.00	Client	Buy
		Foreign Exchange Future		0.00	1	1,000	15	15,000	8.0740	121,068.00	Member	Buy
12:39:27	\$ / R 18/06/2012											

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
12:49:50	\$ / R 17/09/2012	Foreign Exchange Future	Р	7.50	1	1,000	246	246,000	98.0000	(24,108,000.00)	Member	Sell
12:59:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	740	740,000	8.0615	5,965,510.00	Member	Buy
12:59:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,992	1,992,000	8.0950	(16,125,240.00)	Member	Sell
12:59:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,992	1,992,000	8.0950	16,125,240.00	Client	Buy
13:01:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0660	806,600.00	Client	Buy
13:01:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0660	(806,600.00)	Member	Sell
13:21:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	8.0550	104,715.00	Client	Buy
13:21:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	8.0550	(104,715.00)	Member	Sell
13:30:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0435	(4,021,750.00)	Member	Sell
13:31:00	\$ / R 17/09/2012	Foreign Exchange Future	Р	7.50	1	1,000	246	246,000	98.0000	24,108,000.00	Member	Buy
13:31:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1135	(405,675.00)	Member	Sell
13:31:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0505	4,025,250.00	Client	Buy
13:33:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.0425	562,975.00	Member	Buy
13:33:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.0425	(562,975.00)	Client	Sell
13:37:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.0425	(562,975.00)	Member	Sell
13:37:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.0425	562,975.00	Member	Buy
13:39:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.0436	(1,608,720.00)	Client	Sell
13:39:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.0436	1,608,720.00	Member	Buy
13:46:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	650	650,000	8.0476	(5,230,940.00)	Member	Sell
13:46:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.0476	563,332.00	Client	Buy
14:09:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0750	8,075.00	Client	Buy
14:15:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	16	16,000	8.0750	(129,200.00)	Client	Sell
14:15:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.0750	121,125.00	Member	Buy
14:17:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0735	4,036,750.00	Member	Buy
14:18:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0435	402,175.00	Member	Buy
14:18:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0705	(4,035,250.00)	Client	Sell
14:19:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0775	8,077.50	Member	Buy
14:19:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0775	(8,077.50)	Client	Sell
14:19:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0800	(80,800.00)	Client	Sell
14:19:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	8.0800	(105,040.00)	Client	Sell
14:19:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0800	(6,060,000.00)	Member	Sell
14:19:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0800	(6,060,000.00)	Member	Sell
14:24:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	477	477,000	8.0766	(3,852,538.20)	Member	Sell
14:24:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	8.0792	16,158,400.00	Client	Buy
14:29:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0700	403,500.00	Member	Buy
14:29:53	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	450	450,000	8.0725	3,632,625.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.9802	399,010.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0630	(4,031,500.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	580	580,000	8.0476	4,667,608.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0626	4,031,300.00	Member	Buy
14.56.55	\$ / R 18/06/2012			0.00	1	1,000	500		8.0626 7.9916	4,031,300.00 399,580.00	Member	-
		Foreign Exchange Future						50,000				Buy
15:01:16 15:10:47	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1 1	1,000	500	500,000	8.0555	(4,027,750.00)	Client Member	Sell
15:19:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00		1,000	4	4,000	8.0875	(32,350.00)		Sell
15:19:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)		Sell
15:19:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:19:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
15:19:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:19:53	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:19:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:19:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:19:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:19:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:20:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
5:20:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
5:20:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
5:20:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
5:20:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
5:20:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
5:20:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0875	(32,350.00)	Member	Sell
15:21:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	492	492,000	8.0860	(3,978,312.00)	Member	Sell
15:21:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	600	600,000	8.0863	4,851,780.00	Client	Buy
15:27:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	55	55,000	8.0588	443,234.00	Member	Buy
15:27:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	55	55,000	8.0588	(443,234.00)	Client	Sell
5:33:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0600	(161,200.00)	Client	Sell
15:33:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0600	161,200.00	Member	Buy
15:33:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0615	2,015,375.00	Member	Buy
5:50:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0580	(80,580.00)	Client	Sell
5:50:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0580	80,580.00	Member	Buy
5:51:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	600	600,000	8.0695	(4,841,700.00)	Member	Sell
5:52:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.0606	241,818.00	Member	Buy
5:52:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.0606	(241,818.00)	Client	Sell
6:14:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500		8.0600	,	Member	
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000 500,000	8.0600	4,030,000.00 (4,030,000.00)	Client	Buy Sell
	•	5 5 5 5			1	,		,				
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0500	80,500.00	Client	Buy
	•	Foreign Exchange Future		0.00	-	1,000	10	10,000	8.0500	(80,500.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	600	600,000	8.0190	4,811,400.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.0188	(8,018,800.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.0185	481,110.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.0185	481,110.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.0185	481,110.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.0185	481,110.00	Member	Buy
16:21:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.0185	481,110.00	Member	Buy

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
16:21:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.0185	481,110.00	Member	Buy
16:21:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	8.0185	320,740.00	Member	Buy
16:23:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.0475	(3,219,000.00)	Member	Sell
16:27:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0495	(40,247.50)	Member	Sell
16:27:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0495	40,247.50	Client	Buy
6:28:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.0575	8,057,500.00	Client	Buy
6:43:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0400	(16,080.00)	Client	Sell
6:43:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0400	16,080.00	Member	Buy
6:54:12	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.0550	(24,165.00)	Client	Sell
6:54:12	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.0550	24,165.00	Member	Buy
6:54:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.0550	(56,385.00)	Client	Sell
6:54:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.0550	56,385.00	Member	Buy
6:54:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.9615	199,037.50	Member	Buy
6:54:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0515	(2,012,875.00)	Client	Sell
6:55:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0550	(402,750.00)	Client	Sell
6:55:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0550	402,750.00	Member	Buy
6:56:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	201	201,000	8.0520	1,618,452.00	Member	Buy
6:56:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	201	201,000	8.0520	(1,618,452.00)	Client	Sell
7:11:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	52	52,000	8.0515	(418,678.00)	Client	Sell
7:11:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	211	211,000	8.0515	1,698,866.50	Member	Buy
7:11:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	211	211,000	8.0515	(1,698,866.50)	Client	Sell
7:11:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	302	302,000	8.0515	2,431,553.00	Member	Buy
7:11:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	302	302,000	8.0515	(2,431,553.00)	Client	Sell
7:11:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	175	175,000	8.0515	1,409,012.50	Member	Buy
7:11:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	175	175,000	8.0515	(1,409,012.50)	Client	Sell
':11:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	52	52,000	8.0515	418,678.00	Member	Buy
otal Futi	ures				142		25,726	25,726,000		207 830 053.15		
otal Opt	ions				2		2,246	2,246,000		89 108 000.00		
otal for	\$ / R Foreign Exchange Fu	ture			144		27,972	27,972,000		296,938,053.15		
:43:37	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.0750	(807,500.00)	Client	Sell
:43:37	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.0750	807,500.00	Member	Buy
:54:45	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.1000	(810,000.00)	Client	Sell
:54:45	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.1000	810,000.00	Member	Buy
0:01:11	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.1250	(812,500.00)	Client	Sell
D:01:11	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.1250	812,500.00	Member	Buy
5:36:29	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.0355	4,017,750.00	Member	Buy
6:36:29	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.0355	(4,017,750.00)	Member	Sell
otal Futi	ures				4		8	800,000		6 447 750.00		
otal Opt	ions											
otal for	\$ / R MAXI Foreign Exchan	nge Future			4		8	800,000		6,447,750.00		
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	12.8292	64,146,000.00	Member	Buy

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
10:09:07	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.9050	129,050.00	Member	Buy
10:09:07	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.9050	(129,050.00)	Client	Sell
10:11:15	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	12.9100	(258,200.00)	Client	Sell
10:11:15	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	12.9100	258,200.00	Member	Buy
1:17:36	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	12.8669	(193,003.50)	Client	Sell
1:17:36	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	12.8669	193,003.50	Member	Buy
3:58:28	£/R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.9604	64,802.00	Member	Buy
3:58:28	£/R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.9604	(64,802.00)	Client	Sell
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.8269	128,269.00	Member	Buy
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.8269	(128,269.00)	Client	Sell
5:30:26	£/R18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	12.8302	256,604.00	Member	Buy
	£/R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	12.8302	(256,604.00)	Client	Sell
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.8122	25,624.40	Member	Buy
5:39:42	£/R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.8122	(25,624.40)	Client	Sell
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	12.8065	51,226.00	Member	Buy
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	12.8065	(51,226.00)	Client	Sell
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,211	1,211,000	12.8760	(15,592,836.00)	Member	Sell
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,211	1,211,000	12.8760	15,592,836.00	Client	Buy
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2,500	2,500,000	12.8190	(32,047,500.00)	Member	Sell
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2,500	2,500,000	12.8195	(32,048,750.00)	Member	Sell
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	12.8193	64,096,500.00	Client	Buy
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.7542	6,377,100.00	Member	Buy
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	12.8217	(64,108,500.00)	Client	Sell
otal Futi				0.000	12	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	11,547	11,547,000		148 111 789.90	Choint	00
otal Opt							,•	,0,000				
otal for	C / R Foreign Exchange F	uture			12		11,547	11,547,000		148,111,789.90		
2:57:58	€ / R 17/09/2012	Foreign Exchange Future	Р	9.75	1	1,000	1,625	1,625,000	104.0000	(169,000,000.00)	Member	Sell
:36:00	€ / R 17/09/2012	Foreign Exchange Future	Р	9.75	1	1,000	1,625	1,625,000	104.0000	169,000,000.00	Member	Buy
5:19:15	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	10.5945	2,648,625.00	Member	Buy
5:19:15	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.5940	529,700.00	Member	Buy
5:19:15	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	10.5944	(3,178,320.00)	Client	Sell
5:31:02	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.5950	(211,900.00)	Client	Sell
5:31:02	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.5950	211,900.00	Member	Buy
6:07:30	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	10.5967	(2,649,175.00)	Member	Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	10.5967	2,649,175.00	Member	Buy
5:07:30		Foreign Exchange Future		0.00	1	1,000	750	750,000	10.5970	(7,947,750.00)	Client	Sell
	€ / R 18/06/2012				4	1,000	750	750,000	10.5970	7,947,750.00	Member	Buy
6:07:30	€ / R 18/06/2012 € / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000				1,041,100.00	Monibol	
6:07:30 6:07:30		Foreign Exchange Future Foreign Exchange Future		0.00 0.00	1	1,000	120	120,000	10.5970	(1,271,640.00)	Client	Sell
6:07:30	€/R 18/06/2012	v v			-							

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
Total Futu					6		1,570	1,570,000		16 636 397.50		
Total Full	1165				0		1,570	1,570,000		10 030 397.30		
Total Opti	ons				1		1,625	1,625,000		169 000 000.00		
Total for €	/ R Foreign Exchange F	uture			7		3,195	3,195,000		185,636,397.50		
14:28:08	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.2620	(123,930.00)	Member	Sell
14:28:08	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.2620	123,930.00	Client	Buy
15:38:53	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.2520	(24,756.00)	Member	Sell
15:38:53	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.2520	24,756.00	Client	Buy
16:11:25	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.2550	(49,530.00)	Member	Sell
16:11:25	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.2550	49,530.00	Client	Buy
Total Futu	ires				3		24	24,000		198 216.00		
Total Opti	ons											
Total for A	AU\$ / R Foreign Exchang	e Future			3		24	24,000		198,216.00		
Total Futu	ires				167		38,875	39,667,000		379 224 206.55		
Total Opti	ons				3		3,871	3,871,000		258 108 000.00		
Grand To	otal for all Instruments	;			170		42,746	43,538,000		637,332,206.55		